£ AR RRS RARBRERERR

TR 29 218 175 82 69 29 6.0

BEITH 20 109 85 41 34 20 43

ZEEH 3 24 21 15 15 5 4.2

IR 2 6 4 3 3 2 2.0

=g N 10 35 27 25 24 10 2.7

B 2 8 4 4 4 2 2.0

RERE |2 3 21 14 8 3 4.7
315 16 28 22 20 19 16 14

WE 1 1 1 1 2.0

KE 1 3 2 1 4.0

R E2Em 2 15 14 6 6 2 7.0
VEBERE 1 1 1 1 1 1.0

N E 90 471 373 210 186 92 4.1

- ﬁE&_ 33 768 705 154 145 34 20.7
BEHEITH 15 197 189 63 59 15 12.6
UJIZ—># (178) 18 231 231 100 81 18 12.8

UJIE— i (BB 1K) 3 13 11 9 8 4 2.8
e UJIZ—2 8 (B EE) 1 8 8 4 4 1 8.0
& AR (ITR) 5 56 56 20 19 6 9.3

e AR (HE TR 2 22 22 10 10 2 11.0

N E 29 330 328 143 122 31 10.6

s KRR Eiﬁ?ﬁﬁ;é 3 11 9 7 7 3 3.0
N E 3 11 9 7 7 3 3.0

T 6 100 84 24 24 6 14.0

BEITH 4 44 37 12 11 4 9.3

BREH 3 48 42 20 19 7 6.0

SEEE |BexXK 8 28 25 20 18 8 3.1
B 1 2 2 2 2 1.0

=X 3 8 6 4 3 2.0

INGT 25 230 196 82 78 30 6.5

F8 [T 10 35 21 16 10 9 2.3
(HFEE) INEF 10 35 21 16 10 9 23
&t 205 2,042 1,821 675 607 214 8.5

XIERATFEERIERITGDHENHYFET




